Using the data, develop one business research question from which you will formulate a research hypothesis to test one population parameter and another to test two (or more) population parameters. 
You must formulate both a numerical and verbal hypothesis statement regarding each of your research issue. The test(s) must be on parameters.

(A) Develop one business research question
(B) Formulate a research hypothesis to test one population parameter
and another to test two (or more) population parameters.

Type O is domestic, and type 1 is imported.
Research questions
1.    Write a Null and Alternative Hypothesis
2.    Select a Level of Significance
3.    Choose a Test Statistic (no calculations)
4.    Write a decision rule for the computed test statistic
5.    Make a decision by computing the test statistic and comparing it to the decision rule. What the decision rule means in terms of the question in the problem.

One Parameter Test

Is the average age greater than 40 and is there evidence that there is a difference in price based on Type. 

Step 1: Write a Null and Alternative Hypothesis
The NULL hypothesis is that the mean age is not different than 40 : Ho: μ = 40.
The alternative hypothesis is that the mean age is greater than 40. Ha: μ > 40.
2.    Select a Level of Significance
The significance level (alpha) of .05 will be used/

3.    Choose a Test Statistic
For the first research question, a 1 sample t-test will be used. 

4.    Write a decision rule for the computed test statistic
The critical value for a 1 sided 1 sample t-test for 79 degrees of freedom is 1.664. It can be found in a t-table or using the excel function =TINV(.10,79). We will reject the null hypothesis if the test statistic exceeds the critical value.
5.    Make a decision by computing the test statistic and comparing it to the decision rule. What the decision rule means in terms of the question in the problem.
The test statistics t* is calculated as the difference between the sample mean and test value. The sample mean is 42.15 and the test mean is 40, making the difference 42.15-40 = 2.15. This is the numerator of the test statistic.
The denominator is the standard error of the mean (SE) which is the standard deviation of the sample (8.2171) divided by the square root of the sample size. The SE = 8.2171/SQRT(80) = .9187.  This makes the test statistic = 2.15/.9187 = 2.34.   The test statistics exceeds the critical value of 1.664, so we reject the null hypothesis and conclude the average age is greater than 40.

Two Parameter Test

For the second part of the research question we wish to determine if there is a difference in price between import and domestic (Type).  

Step 1: Write a Null and Alternative Hypothesis

The NULL hypothesis is that the mean prices between import and domestic are not different: Ho: μ1 = μ2.
The alternative hypothesis is that the mean prices between import and domestic are different Ha: μ1 ≠ μ2.
2.    Select a Level of Significance
The significance level (alpha) of .05 will be used.
3.    Choose a Test Statistic
A 2-sample (non-directional) t-test will be conducted.

4.    Write a decision rule for the computed test statistic
The critical value for a 2 sided 2 sample t-test for 38 degrees of freedom is 1.991. It can be found in a t-table or using the excel function =TINV(.05,78). We will reject the null hypothesis if the test statistic exceeds the critical value.

5.    Make a decision by computing the test statistic and comparing it to the decision rule. What the decision rule means in terms of the question in the problem.
The test statistics t* is calculated as the difference between the two means (25,846-21,641) = 4204.86. This is the numerator of the test statistic.

The denominator is the standard error of the difference (SE). It is calculated by pooling the variances for each sample using the following formula (pooled standard deviation Sp) :
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Then multiplying this value times an adjustment for the unequal sample sizes:
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Plugging in your values we get 
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= 3867.0122
Then 
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 =3867.0122 * 0.2309 =893
So, the test statistic is 4204.86/893 = 4.7086.

We see that the test statistic exceeds the critical value of 1.991 so we reject the NULL hypothesis and conclude that there is a difference in mean price between imported and domestic.
Data:

(A)    Develop one business research question
(B)    Formulate a research hypothesis to test one population parameter
and another to test two (or more) population parameters.
      
Type O is domestic, and type zero is imported.

Price    Price($000)    Age    Type
23197    23.197    46    0
23372    23.372    48    0
20454    20.454    40    1
23591    23.591    40    0
26651    26.651    46    1
27453    27.453    37    1
17266    17.266    32    1
18021    18.021    29    1
28683    28.683    38    1
30872    30.872    43    0
19587    19.587    32    0
23169    23.169    47    0
35851    35.851    56    0
19251    19.251    42    1
20047    20.047    28    1
24285    24.285    56    0
24324    24.324    50    1
24609    24.609    31    1
28670    28.67        51    1
15546    15.546    26    1
15935    15.935    25    1
19873    19.873    45    1
25251    25.251    56    1
25277    25.277    47    0
28034    28.034    38    1
24533    24.533    51    0
27443    27.443    39    0
19889    19.889    44    1
20004    20.004    46    1
17357    17.357    28    1
20155    20.155    33    1
19688    19.688    35    1
23657    23.657    35    0
26613    26.613    42    1
20895    20.895    35    0
20203    20.203    36    1
23765    23.765    48    0
25783    25.783    53    1
26661    26.661    46    1
32277    32.277    55    0
20642    20.642    39    1
21981    21.981    43    1
24052    24.052    56    0
25799    25.799    44    0
15794    15.794    30    1
18263    18.263    39    1
35925    35.925    53    0
17399    17.399    29    1
17968    17.968    30    1
20356    20.356    44    0
21442    21.442    41    1
21722    21.722    41    0
19331    19.331    35    1
22817    22.817    51    1
19766    19.766    44    1
20633    20.633    51    1
20962    20.962    49    1
22845    22.845    41    1
26285    26.285    44    0
27896    27.896    37    0
29076    29.076    42    1
32492    32.492    51    0
18890    18.89        31    1
21740    21.74        39    0
22374    22.374    53    0
24571    24.571    55    1
25449    25.449    40    0
28337    28.337    46    0
20642    20.642    35    1
23613    23.613    47    1
24220    24.22        58    1
30655    30.655    51    0
22442    22.442    41    1
17891    17.891    33    1
20818    20.818    46    1
26237    26.237    47    0
20445    20.445    34    1
21556    21.556    43    1
21639    21.639    37    1
24296    24.296    47    0

